
1) 169.2 ÷ 18

Answer: ____________

2) 112 ÷ 11.2

Answer: ____________

3) (-24) - (-79)

Answer: ____________

4) 51/3 x 44/6

Answer: ____________

5) 08:47 am To 10:44 am

Answer: ____________

6) Find perimeter of 
square having each side 
(s) equals 56 cm

Answer: ____________

7) 20.15 ÷ 3.1

Answer: ____________

8) 20.15 ÷ 3.1

Answer: ____________

9) Find area of square 
having each side (s)
equals 33 m

Answer: ____________

10)
Find the next three numbers in 
the sequence
27,24,36,33,45,42,54__,__,__

Answer: ____________

Total: ___ / 10
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Answers:

1) 9.4 2) 10 3) 55 4) 248/9 5) 01 Hours 57 Mins 6) 224cm 7) 6.5

8) 6.5 9) 1089m 10) 51,63,60,
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